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QUESTION 1

An engineer is implementing a Cisco MPLS TE tunnel to improve the streaming experience for the clients of a video-on-
demand server.

Which action must the engineer perform to configure extended discovery to support the MPLS LDP session between the
headend and tailend routers?

A. Configure the interface bandwidth to handle TCP and UDP traffic between the LDP peers
B. Configure a Cisco MPLS TE tunnel on both ends of the session

C. Configure an access list on the interface to permit TCP and UDP traffic

D. Configure a targeted neighbor session.

Correct Answer: B

QUESTION 2

Refer io me exhibit.

switch > enable |

switch # configure terminal

switch(config)# interface GigabitEthernet 1/10
switch({config-if# switchport mode trunk
switch(config-if}# switchport trunk allowed vian 10,20,30
switch(config-iN# exit

switch (config j# monitor session 1 type erspan-source
swilch(config-mon-erspan-src)# description source1
switch(config-mon-erspan-src)# source vian 10
switch(config-mon-grspan-src# source vian 20
switch(config-mon-erspan-srcj# filter vian 30

switch (config-mon-erspan-src)# destination
switch(config-mon-erspan-src-dst)# erspan-id 100
switch(config-mon-erspan-src-dst)# origin ip address 10.1.0.1
switch(config-mon-erspan-src-gdst)# ip prec 5
switch(config-mon-erspan-src-dst)# ip ttl 32
switch(config-mon-erspan-src-dst)# miu 1500
switch(config-mon-erspan-src-ast)# ip address 10.10.0.1
switch(config-mon-erspan-src-dst)# vrf 1

switch (config-mon-erspan-src-dst)# no shutdown
switch(config-mon-erspan-src-dst)# end

An engineer configures the trunk and proceeds to configure an ESPAN session to monitor VLANs10. 20. and 30. Which
command must be added to complete this configuration?
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A. Device(config.mon.erspan.stc)# no filter vian 30

B. Devic(config.mon.erspan.src-dst)# no vrf 1

C. Devic(config.mon.erspan.src-dst)# erspan id 6

D. Device(config.mon-erspan.Src-dst)# mtu 1460

Correct Answer: A

You cannot include source VLANs and filter VLANS in the same session https://www.cisco.com/c/en/us/td/docs/switches

/lan/catalyst3850/software/release/16-5/configuration_guide/nmgmt/b_165 nmgmt_3850_cg/b_165 nmgmt_3850 cg ¢
hapter_0111.pdf

QUESTION 3

What is a Type 1 hypervisor?

A. runs directly on a physical server and depends on a previously installed operating system
B. runs directly on a physical server and includes its own operating system

C. runs on a virtual server and depends on an already installed operating system

D. run on a virtual server and includes its own operating system

Correct Answer: B

QUESTION 4

Which command set configures RSPAN to capture outgoing traffic from VLAN3 on interface GigabitEthernet 0/3 while
ignoring other VLAN trafic on the same interface?

A. monitor session 2 source interface gigabitethernet 0/3 tx monitor session 2 filter vian 1 - 2, 4 - 4094
B. monitor session 2 source interface gigabitethernet 0/3 tx monitor session 2 filter vlan 3
C. monitor session 2 source interface gigabitethernet 0/3 rx monitor session 2 filtervian 1 - 2 , 4 - 4094
D. monitor session 2 source interface gigabitethernet 0/3 rx monitor session 2 filter vlan 3

Correct Answer: B

QUESTION 5

Refer to the exhibit.
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RouterSFishow ip route 10.0.0.0
Routing entry for 10.0.0.0/24, 1 known subnets

B 10.0.0.0 [20/0]) wvia 192.168.2.2, 00:03:23

Routersri

RouterSFfshow bgp 10.0.0.0
BGP routing table entry for 10.0.0.0/24, version 8
Faths: (2 available, best $#2, table default)

Multipath: eiBGP
Advertised to update-groups:
2

Refreah Epoch 1

€5002 €5001
192.168.3.2 from 192.168.3.2 (192.168.3.2)

Origin IGP, localpref 100, wvalid, extermal

rx pathid: 0, tx pathid: 0
Updated on Sep 22 2020 21:32:27 UTC

Refresh Epoch 2

©5003 €5001
192.168.2.2 from 192.168.2.2 (192.168.2.2)

Origin IGP, localpref 100, valid, external, best

rx pathid: 0, tx pathid: 0x0
Updated on Sep 22 2020 21:31:57 vurcC

RoutersrFf

After configuring the BGP network, an engineer verifies that the path between Servers and Server2 Is functional. Why
did RouterSF choose the route from RouterDAL instead of the route from RouterCHI?
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A. The Router-ID Tor Router DAL is lower than the Roter-ID for RouterCHI.
B. The route from RouterOAL has a lower MED.

C. BGP is not running on RouterCHI.

D. There is a static route in RouterSF for 10.0.0.0/24.

Correct Answer: A
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